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Question Number : 1 Question Id : 1651 Question Type : MCQ Option Shuffling : No

Correct : 2.0 Wrong : 0.0

Two balls of equal mass and of Perfectly elastic material are lying on the floor. One of the ball wath velocity V
is made to struck the second ball. Both the balls after impact will move with a velocity

Options :
1%y

> M2
3 X V4



4. % vz

Question Number : 2 Question Id : 1652 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

The condition for a truss to be perfect is, where m = number of members and | = number of joints
Options :

1.9€m=2j-3

2. ®m>2i-3

3 X m<2i-3

> 2i-
5 % mz2j-3

Question Number : 3 Question Id : 1653 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

In virtual work Principle, the work done by self weight of the body is taken into consideration, when
Options :

1. ® centre of gravity moves vertically

2, X centre of gravity moves horizantally

3. X shear centre moves horizantally

4. X shear centre moves vertically

Question Number : 4 Question Id : 1654 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

The co-efficient of restitution of a perfectly plastic impact is

Question Number : 5 Question Id : 1655 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

4 lead ball with a certain velocity is made to strike a wall, it falls down, but rubber ball of same mass and with
same velocity strikes the same wall, it rebounds. Select the correct reason from the following:

Options :

1. x both the balls undergo an equal change in momentum

2. M the change in momentum suffered by rublber ball is more than the lead ball
3 *® the change in momentum suffered by rubber is less than the lead ball

4. ® none of the above

Question Number : 6 Question Id : 1656 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

During elastic impact, the relative velocity of the two bodies after impact is
two bodies before impact

Options :
1% equal to

______ the relative velocity of the

2. & equal and opposite to
3. X less than
4. % greater than



Question Number : 7 Question Id : 1657 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

A Particle is dropped from a height of 3m on a horizantal floor, which has a coefficient of restitution with the
ball of 1/2. The height to which the ball will rebound after striking the floor is

Options :

1.%®05m
2 ®075m
3X10m
4 X15m

Question Number : 8 Question Id : 1658 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

A bullet of mass 1 kg if fired with a velocity of u mjs froma gun of mass 10 kg. The ratio of kinetic energies of
bullet and gun is

Question Number : 9 Question Id : 1659 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

If u, and u, are the velocities of two moving bodies in the same direction before impact and v, and v, are their velocities after impact,
then co-efficient of restitution is given by

Options :
e S
P
b
5 ® W~
1 — U,
5 X UV
i+
4 X wy

Question Number : 10 Question Id : 1660 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

Which of the following staternent is correct?

Options :

1. X the algebraic surn of the forces, constituting the couple is zero

M3

R the algebraic sum of the forces, constituting the copule, about any point is same

L couple cannot be balanced by a single force but can be balanced only by a copuple of opposite sense

w

4 * all staterments



Question Number : 11 Question Id : 1661 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

For a long slender colurnn of uniform cross section, the ratio of critical buckling load for the case with both
ends closed to the case with both ends hinged is

Options :
1 K

5 o
2. M2

Question Number : 12 Question Id : 1662 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0

a circular rod of length 'L' and area of cross section 'A' has a modulus of elasticity 'E' and co-efficient of
thermal expansion '?' . One end of the rod is fixed and the other end is free. If the temperature of the rod is
increased by 7T, then

Options :

I x stress developed in the rod is E ? 7T and strain develpoed in therod is 7 7T
2. & Both stress and strain developed ir the rod are zero

3.  stress developed in the rod is zero and strain developed in the rod is ? 7T

4. X stress developed in the rod is E ? ?T and strain developed in the rod is zéra

Question Number : 13 Question Id : 1663 Question Type : MCQ Option Shuffling : No
Correct : 2.0 Wrong : 0.0
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